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3- <íòéŞfÖ]<íéñ^éÛéÓÖ]<l÷çvjÖ]ğ]‚q<V<<]ƒc<æ_<Ý^è_<ì‚Â<Ñ†Çj‰]<]ƒc<ğ]‚q<óéŞe<êñ^éÛéÓÖ]<ÙçvjÖ]<áçÓè
<Àuøi<÷<íéñ^éÛéÓÖ]<í×Û¢]<…çŞi<sñ^jÞ<kÞ^Òc<í×Û¢]<á_<ƒc<°u<ÙçÏÞ<æ<†ã�_<æ_<Ý^è_<ì‚Â<‚Ãe<±

Jğ̂ éÒ†u<í×�^Â<íéñ^éÛéÓÖ] 

II. V<íéñ^éÛéÒ<í×¶<…çŞjÖ<íéßÚˆÖ]<íÃe^j¹] 

ê–jÏè<íéñ^éÛéÒ<í×¶<…çŞi<íÃe^jÚ<ác<V<íéÖ^jÖ]<l]çŞ¤]<ÄfjÞ<]„Ö<óéŞe<ÙçvjÖ]<áçÓè<á_< <
_<I  V<íéñ^èˆéËÖ]<íÏè†ŞÖ]<<íé×Î^ßÖ]<Œ^éÎ<î×Â<‚ÛjÃi<�Ö]G<J 

h<I  V<íéñ^éÛéÓÖ]<íÏè†ŞÖ]<J<íéÞç×Ö]<ì†è^Ã¹]<î×Â<‚ÛjÃi<�Ö] 

_<I  V<íé×Î^ßÖ]<Œ^éÎ<Ðè†�<àÂ<íéßÚˆÖ]<íÃe^j¹] 

<½^�Þ<àè†³<V21<‘ívË<54<J< <
1- <àÓµJ<ë�…^�<Ùç×�]<áù<íé×Î^ßÖ]<Œ^éÎ<Ðè†�<àÂ<ÙçvjÖ]<]„â<íÃe^jÚ 

2- éÛÒ<h^Šu<ì�^¹]<í<V<løÂ^ËjÛ×Ö<íéñ]‚jeý] 

<š†ËÞ
R Cln −<<ì�^Ú<íéÛÒ( )3 3

CH C Cl− − 

½1<D<.
R Cl

n C V− =<<oéumC
C

V
= <<V<äßÚ<æ.m

R Cl

C
n V

M
− =< <

<V<íéòèˆ¢]<íéÖç¹]<í×jÓÖ]<h^Šu( ) ( ) ( )4 12 9 1 1 35,5 92,5 /R ClM g mol− = × + × + × =< <

<V<‚¨<˜èçÃjÖ^e
3

54 2 10
8,6.10

92,5R Cln mol

−

−
−

× ×
= =<< <

½2<D<34( ) 1000 4 2
8.10 ( )

2 1000

g ml
m g

m ml

−→  ×
= =

→ 
<<<<<æ92,5 /

R Cl
M g mol− = 

<V<äßÚ<æ
3

58.10
8,6.10

92,5R Cl

m
n mol

M

−
−

− = = =< <

I <V<ð^Û{Ö]<ì�^Ú<íéÛÒ<h^Šu 

<<<<<<<<ð^¹]<Üru<h^Šu<<V<<V<^ßè‚Ö
80 100% 95 80

76
95% 100

ml
x ml

x

→  ×
= =

→ 
< <

^ßè‚Ö<æ<<V<<ð^Û×Ö<íéÛr£]<í×jÓÖ]1( / )
m

g ml
V

ρ = =<<<V<äßÚ<æ. .
R Cl

m V n Mρ −= =< <

<<V<äßÚ<æ. 1 76
4,22

18R Cl

V
n mol

M

ρ
−

×
= = =< 

< <
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3- V<Ý‚ÏjÖ]<Ùæ‚q<ð^�Þc 

<{Ö<ì�^¹]<íéÛÒ<^ßè‚Ö2H O<<{Ö<ì�^¹]<íéÛÒ<àÚ<�nÓe<�Ò_( )3 3
CH C Cl− −<<<J<ì†Êçe<gjÓÞ<]„� 

( ) ( )3 2 33 3
CH C Cl H O CH C OH H Cl+ −− − + = − − + +< <<ØÂ^ËjÖ]<íÖ�^ÃÚ< <

Ùç¹^e<ì�^¹]<íéÛÒ< <Ý‚ÏjÖ]( )x mol í×Û¢]<íÖ^u< <
0< <0< <0< <

ì†
{{{
Êç
{{{
e

<
<

58,6.10−< <0< <íéñ]‚jeý]<íÖ^£]< <

x< <x< <x< <58,6.10 x− −< <x <íÖ^£]íéÖ^ÏjÞý]< <

maxx< <maxx< <maxx< <5
max8,6.10 x− −< <maxx< <íéñ^ãßÖ]<íÖ^£]< <

 

4- <íéÂçßÖ]<íé×Î^ß×Ö<íéÊ†£]<ì…^fÃÖ]<íe^jÒσ<<Ý‚ÏjÖ]<íÖ÷‚e<Ùç×vÛ×Öx<J 

H Cl
H Clσ λ λ+ −

+ −   = +   <<<<<<<<V<^ßè‚Ö<æCl H C− +   = =   < <

<V<äßÚ<æ( )H Cl
Cσ λ λ+ −= +<<^ßè‚Ö<æ

T

n
C

V
=<<<<æ( )n x t=< <

<V<äé×Â<æ<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<( ) ( )( )
.................... 1..

H Cl
T

x t

V
σ λ λ+ −= + 

5- <í¿v×Ö]<»<íÚæ‚ÃÚ<¼‰ç×Ö<íéÂçßÖ]<íé×Î^ßÖ]<áçÓi0t =<<�…]ç�Ö]<h^éÇÖJ 

6- <íéÂçßÖ]<íé×Î^ßÖ]<ì…^fÂ<íe^jÒ
fσ<V<ØÂ^ËjÖ]<íè^ãÞ<» 

<V<^ßè‚Ömaxf
x x=<V<äßÚ<æ<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<( ) ( )max ............... 2.

f H Cl
T

x

V
σ λ λ+ −= +< <

7- <êÛ¿Âù]<Ý‚ÏjÖ]<h^Šumaxx<V 

<V<ØÂ^ËjÖ]<íè^ãÞ<‚ßÂ5
max8,6.10 0x− − =<<<<<<<<V<äßÚ<æ5

max 8,6.10x mol−=<< <
8- <Ý‚ÏjÖ]<ì…^fÂ<íe^jÒx<<íÖ÷‚eσ<<æ

f
σ<<V 

E<ì…^fÃÖ]<íÛŠÏe1E<î×Â<D2<V<‚¨<D
( )

( ) max max

( )
( ) ( )H Cl

T

f
H Cl

T

x t

t x tV

x x

V

λ λ
σ
σ λ λ

+ −

+ −

+
= =

+
< <

<V<äßÚ<æ<<<<<<<<max

( )
( ) .

f

t
x t x

σ
σ

=< 

9- <Ý‚ÏjÖ]<ÜéÏÖ<Ùæ‚qx<V<íË×j~¹]<l^¿v×Ö]<» 

<V<^ßè‚Ö
5

78,6.10
( ) . ( ) 2,88.10 ( )

298,1
x t t tσ σ

−
−= =<<< <

190  160  140  120  110  100  90  80  70  60  50  40  30  20  10  0  t(s) 

7,88  7,52  7,16  6,72  6,54  6,18  5,91  5,55  4,93  4,66  4,12  3,49  2,86  2,15 1,52  0  x(10
-5

mol)  
                                                                        < <<<< <<<<< <<<<<<<< <<<<<<<<<<<< <<< << <<<<<<<<<<<<<<<<<<<< << <

450  380  375  365  315  285  240  220  
8,60  8,60  8,60  8,60  8,51  8,42  8,24  8,06  

< <

10- <êÞ^éfÖ]<îßvß¹]<Ü‰…( )x f t=<<V<Ü×ŠÖ^e
5

1 20

2 1.10

cm s

cm mol−

→


→
< 
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< <
< <

< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <

 

 

 

 

 

 

 

 

 

 

 

x(10
-5m

ol) 

X
m

ax /2 

t1/2 =
55s 

20(s) 

1.10
-5(m

ol) 

X
=

f(t)<íÖ]‚Ö]<î
ßvßÚ
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11-  <<ØÂ^ËjÖ]<Ì’Þ<àÚ‡1 2t<<V<ë_<êÛ¿Âù]<äÚ‚Ïi<Ì’Þ<ØÂ^ËjÖ]<Éç×fÖ<Ý‡øÖ]<àÚˆÖ]<çâ<V

max
1 2( )

2

x
x t =<<< <

<<<<<<<<<<<<I<<<<ë_<<Ý^i<ØÂ^ËjÖ]<á^Ò<]ƒcmaxfx x=<<Õøãj‰ý<íè…æ†–Ö]<íéßÚˆÖ]<ì‚¹]<Ønµ<ØÂ^ËjÖ]<Ì’Þ<àÚ‡<ádÊ
J<‚�]<ØÂ^Ëj¹]<ì�^Ú<íéÛÒ<Ì’Þ< <

• 1 2t<J<êÛ¿Âù]<ØÂ^ËjÖ]<Ý‚Ïi<Ì’ßÖ<ÐÊ]ç¹]<àÚˆÖ]<ç{â< <

<àÚˆÖ]<äßÚ<æ1 2t<<àè†Ûj×Ö<ÐÊ]ç¹]21<<ívË‘54<<çâ1 2 5 ( )5t s=< 

 

 

< <
 ØÂ^ËjÖ]<íÂ†‰ØÂ^ËjÖ]<íÂ†‰ØÂ^ËjÖ]<íÂ†‰ØÂ^ËjÖ]<íÂ†‰<<V< <

<V<íéÖ^jÖ]<íÖ�^Ã¹^e<êñ^éÛéÓÖ]<ÙçvjÖ]<t„ÛßèA B C Dα β γ λ+ = +<< <
1- <ØÂ^Ëj¹]<ØÓ�i<íÂ†‰<ØÂ^Ëj¹]<ØÓ�i<íÂ†‰<ØÂ^Ëj¹]<ØÓ�i<íÂ†‰<ØÂ^Ëj¹]<ØÓ�i<íÂ†‰D<<<<VVVV< << << << <

_<I  <íŞ‰çj¹]<íÂ†ŠÖ]<V< <
êñ^éÛéÓÖ]<Åçß×Ö<íŞ‰çj¹]<íÂ†ŠÖ]<ì…^fÂ<îŞÃiD<<V<íéÖ^jÖ]<íÎøÃÖ^e 

2 1

2 1

( / )D
m

n n n
mol s

t t t
ν

− ∆
= =

− ∆
< <

äéqçi<ØÚ^ÃÚ<íŞ‰çj¹]<íÂ†ŠÖ]<Øn³<oéu 

<<îßvß¹]<ÄŞÏè<ë„Ö]<ÜéÏjŠ¹]<°e<<°j¿v×Ö]1t<<æ2t<J 

< <
h<I  íé¿v×Ö]<íÂ†ŠÖ]<<V< <

c<Œ^éÎ<á^Ò<]ƒDn∆<<�Ú‡<Ù^¥<Ùø}t∆<<êñ^éÛéÓÖ]<ÅçßÖ]<ØÓ�jÖ<íŞ‰çj¹]<íÂ†ŠÖ]<ádÊ<ğ]‚q<�Ç‘

D<<îÂ‚i<íè‚u<íÛéÎ<±c<Ùæöè<íé¿v×Ö]<íÂ†ŠÖ]êñ^éÛéÓÖ]<ÅçßÖ]<ØÓ�jÖ< <

<<V<oéu0t∆ →<<^{{{{¹1 2t t t=≃<< <

<<V<äé×Â<æ
0 0

lim lim D D
m

t t

n dn

t dt
ν ν

∆ → ∆ →

∆
= = =

∆
<<< <

ğ̂ éÞ^ée<Œ^Û¹]<äéqçi<ØÚ^ÃÚ<Øn³<íé¿v×Ö]<íÂ†ŠÖ]<V< <

<<í¿v×Ö]<‚ßÂt<<<îßvßÛ×Ö( )Dn f t=<<Vë_Dn

t
ν

∆
=

∆
< <

2- <êñ^éÛéÓÖ]<ÅçßÖ]<ð^Ëj}c<íÂ†‰<êñ^éÛéÓÖ]<ÅçßÖ]<ð^Ëj}c<íÂ†‰<êñ^éÛéÓÖ]<ÅçßÖ]<ð^Ëj}c<íÂ†‰<êñ^éÛéÓÖ]<ÅçßÖ]<ð^Ëj}c<íÂ†‰AV< <

_<I  íŞ‰çj¹]<íÂ†ŠÖ]<<V< <
ë„Ö]<ÜéÏjŠ¹]<äéqçi<ØÚ^ÃÚ<êâ<ğ̂ éÞ^ée<íŞ‰çj¹]<íÂ†ŠÖ]< <

<<ì�^Ú<íéÛÒ<ð^Ëj}c<îßvßÚ<ÄŞÏèA<àÚˆ×Ö<ífŠßÖ^e<°e< <

<<<°j¿v×Ö]1t<<æ2tJ< <

x(mol) 

t(s) 

Xmax /2 

xmax 

t1/2 

nD(mol) 

t(s) 

n1 

n2 

t1 t2 

∆t 

∆nD 

nD(mol) 

t(s) 

nD(t) 

t 

∆t 

∆nD 

nA(mol) 

t(s) 

n2 

n1 

t1 t2 

∆t 

∆nA 

n0A 
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<<V<oéu2 1

2 1

( / )A
m

n n n
mol s

t t t
ν

∆ −
= − = −

∆ −
<< <

h<I  íé¿v×Ö]<íÂ†ŠÖ]<V< <

0t∆ →<<^¹1 2t t t=≃< <

<<V<äßÚ<æ
0 0

lim lim( )A A
m

t t

n dn

t dt
ν ν

∆ → ∆ →

∆
= = − = −

∆
< <

ğ̂ éÞ^ée<äéqçi<ØÚ^ÃÚ<êâ<íé¿v×Ö]<íÂ†ŠÖ]<V< <

<<í¿v×Ö]<»<Œ^Û¹]t<<V<ë_An

t
ν

∆
= −

∆
< <

3- íéÛr£]<íÂ†ŠÖ]íéÛr£]<íÂ†ŠÖ]íéÛr£]<íÂ†ŠÖ]íéÛr£]<íÂ†ŠÖ]<V< <

_<I  <êñ^éÛéÓÖ]<ÅçßÖ]<ØÓ�jÖ<íéÛr£]<íÂ†ŠÖ]D<V< <

<V<íéÖ^jÖ]<íÎøÃÖ^e<îŞÃi( )

1 1D
vol D

dn

V dt V
ν ν= = 

<V<oéuV<<ê×Â^ËjÖ]<¼‰çÖ]<Üru< <
<ê×Â^ËjÖ]<¼‰çÖ]<Üru<á^Ò<]ƒcV<<V<ádÊ<ke^m 

[ ]( ) [ ]1
( ) ( / . )

vol

d D V d D
D mol L s

V dt dt
ν = =< <

ğ̂ éÞ^ée<<V[ ]
( ) ( / . )

vol

D
D mol L s

t
ν

∆
=

∆
< <

h<I  <êñ^éÛéÓÖ]<ÅçßÖ]<ð^Ëj}ý<íéÛr£]<íÂ†ŠÖ]A<<V< <

( )

1 1 A
vol A

dn

V V dt
ν ν= = −<VoéuV<<ke^m<ê×Â^ËjÖ]<¼‰çÖ]<Üru< <

<V<äßÚ<æ
[ ]( ) [ ]

( )

1
( / . )

vol A

d A V d A
mol L s

V dt dt
ν = − = −<< <

ğ̂ éÞ^ée<<V[ ]
( )vol A

A

t
ν

∆
= −

∆
<< <

 ØÂ^ËjÖ]<íÂ†‰ØÂ^ËjÖ]<íÂ†‰ØÂ^ËjÖ]<íÂ†‰ØÂ^ËjÖ]<íÂ†‰<V< <
<á_<…^fjÂdex<<í¿v×Ö]<‚ßÂ<ØÂ^ËjÖ]<Ý‚Ïi<…]‚ÏÚt<<ØÂ^ËjÖ]<íÂ†‰<ádÊ 

V<íéÖ^jÖ]<íÎøÃÖ^e<Í†Ãi<í¿v×Ö]<å„â<‚ßÂ( / )
dx

mol s
dt

ν =<< <

ğ̂ éÞ^ée<<îßvßÛ×Ö<äéqçi<ØÚ^ÃÚ<êâ<ğ̂ éÞ^ée<ØÂ^ËjÖ]<íÂ†‰<V( )x f t= 

<<V<ë_( / )
x

mol s
t

ν
∆

=
∆

< 

< <
 <ØÂ^Ëj×Ö<íéÛr£]<íÂ†ŠÖ]<ØÂ^Ëj×Ö<íéÛr£]<íÂ†ŠÖ]<ØÂ^Ëj×Ö<íéÛr£]<íÂ†ŠÖ]<ØÂ^Ëj×Ö<íéÛr£]<íÂ†ŠÖ]<V< <

nA(mol) 

t(s) 

nA(t) 

t 

∆t 
∆nA 

n0A 

 D (mol/L) 

t(s) 

 D  (t) 

t 

∆t 

∆ D  

t(s) 

 A  (t) 

t 

∆t 

 

 A 0 

 A  (mol/L) 

x(mol) 

t(s) 

x 

t 

∆t 

∆x 
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<V<íéÖ^jÖ]<íÎøÃÖ^e<ØÂ^Ëj×Ö<íéÛr£]<íÂ†ŠÖ]<îŞÃi1
( / . )vol

dx
mol L s

V dt
ν =<< <

<<<<<<<<  

<<<<<àè†³E<½^�ß×Ö<Äe^i21<<ívË‘54<D< <
12- <<í¿v×Ö]<‚ßÂ<ØÂ^Ëj×Ö<íéÛr£]<íÂ†ŠÖ]60t s= <æ200t s=V 

<<<<<<<<<<<<<<<<60t s=<<V<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
60

1 1
(60) (60)vol

t s

dx

V dt V
ν ν

=

 = = 
 

<< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<( ) 5
76 3,1 .10

(60) 6,5.10 ( / )
88 44

x
mol s

t
ν

−
−−∆

= = =
∆ −

<< <

<æV<äßÚ<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
7

6
3

6,5.10
(60) 7,93.10 ( / . )

82.10vol mol L sν
−

−
−= =<< <

200t s=<V<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
200

1 1
(200) (200)vol

t s

dx

V dt V
ν ν

=

 = = 
 

<< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<( ) 5
88,6 7,5 .10

(200) 6,8.10 ( / )
300 140

x
mol s

t
ν

−
−−∆

= = =
∆ −

<< <

<V<äßÚ<æ<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
8

7
3

6,8.10
(200) 8,3.10 ( / . )

82.10vol
mol L sν

−
−

−= =< <

13- <<°jÂ†ŠÖ]<°e<íÞ…^Ï¹]<V 

     <íÂ†ŠÖ]<á_<ÀuøÞ(200) (60)vol volν ν〈<<H<ì�^Ú<íéÛÒ<áù<Ý‚Ãßi<îju<àÚˆÖ]<…æ†Ú<ÄÚ<“Î^ßji<løÂ^Ëj¹]
J<ØÂ^ËjÖ]<íè^ãÞ<»< <
<ğ̂ éÞ^ée<‚Ò`jÖ]<V 

< <
< <
< <
< <
< <
< <
< <
< <

 

 

 

 

 

 

 

 

x(mol) 

t(s) 

t2 t1 t3 t0 tf 
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A B C Dα β γ λ+ = +<< <
1- <V<ØÂ^ËjÖ]<íÂ†‰<V<ØÂ^ËjÖ]<íÂ†‰<V<ØÂ^ËjÖ]<íÂ†‰<V<ØÂ^ËjÖ]<íÂ†‰ 

( / )
dx

mol s
dt

ν =< <

 

<Vğ̂ éÞ^ée( / )
x

mol s
t

ν
∆

=
∆ 

2- <íéÛr£]<íÂ†ŠÖ]<íéÛr£]<íÂ†ŠÖ]<íéÛr£]<íÂ†ŠÖ]<íéÛr£]<íÂ†ŠÖ]ØÂ^Ëj×ÖØÂ^Ëj×ÖØÂ^Ëj×ÖØÂ^Ëj×Ö<<V 

1
( / . )vol

dx
mol L s

V dt
ν =

 

<<VoéuV<<ê×Â^ËjÖ]<¼‰çÖ]<Üru<VJ 

3- V<ð^Ëj}ý]<íÂ†‰V<ð^Ëj}ý]<íÂ†‰V<ð^Ëj}ý]<íÂ†‰V<ð^Ëj}ý]<íÂ†‰ 

( ) ( / )A
A

dn
mol s

dt
ν = −< <

< <
 

4- <V<ð^Ëj}þÖ<íéÛr£]<íÂ†ŠÖ]<V<ð^Ëj}þÖ<íéÛr£]<íÂ†ŠÖ]<V<ð^Ëj}þÖ<íéÛr£]<íÂ†ŠÖ]<V<ð^Ëj}þÖ<íéÛr£]<íÂ†ŠÖ] 

<íÏè†ŞÖ]<I1I<<V( )

1
( / . )A

vol A

dn
mol L s

V dt
ν = −

<<<<< <
  <<<íÏè†ŞÖ]<I2I<<V< <

<<<
[ ]

( ) ( / . )vol A

A
mol L s

t
ν

∆
= −

∆< <

 

5- V<ØÓ�jÖ]<íÂ†‰V<ØÓ�jÖ]<íÂ†‰V<ØÓ�jÖ]<íÂ†‰V<ØÓ�jÖ]<íÂ†‰ 

( ) ( / )D
D

dn
mol s

dt
ν =

< <
< <

 

6- V<ØÓ�j×Ö<íéÛr£]<íÂ†ŠÖ]V<ØÓ�j×Ö<íéÛr£]<íÂ†ŠÖ]V<ØÓ�j×Ö<íéÛr£]<íÂ†ŠÖ]V<ØÓ�j×Ö<íéÛr£]<íÂ†ŠÖ] 

íÏè†ŞÖ]<I1I<V
 

( )

1
( / . )D

vol D

dn
mol L s

V dt
ν =

< <

íÏè†ŞÖ]<I2I<<V[ ]
( ) ( / . )vol D

d D
mol L s

dt
ν = 

x(mol) 

t(s) 

nA(mol) 

t(s) 

t(s) 

 A  (mol/L) 

nD(mol) 

t(s) 
 D (mol/L) 

t(s) 
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7- <ØÓ�jÖ]<íÂ†‰<°e<íÎøÃÖ]<ØÓ�jÖ]<íÂ†‰<°e<íÎøÃÖ]<ØÓ�jÖ]<íÂ†‰<°e<íÎøÃÖ]<ØÓ�jÖ]<íÂ†‰<°e<íÎøÃÖ]( )Dν<<<<ØÓ�j×Ö<íéÛr£]<íÂ†ŠÖ]<æØÓ�j×Ö<íéÛr£]<íÂ†ŠÖ]<æØÓ�j×Ö<íéÛr£]<íÂ†ŠÖ]<æØÓ�j×Ö<íéÛr£]<íÂ†ŠÖ]<æ( )vol Dν <<<<VVVV 

<<<( )
( )

D

vol D
V

ν
ν = 

 

8- ð^Ëj}ý]<íÂ†‰<°e<íÎøÃÖ]ð^Ëj}ý]<íÂ†‰<°e<íÎøÃÖ]ð^Ëj}ý]<íÂ†‰<°e<íÎøÃÖ]ð^Ëj}ý]<íÂ†‰<°e<íÎøÃÖ]( )Aν <<<<ð^Ëj}þÖ<íéÛr£]<íÂ†ŠÖ]<æð^Ëj}þÖ<íéÛr£]<íÂ†ŠÖ]<æð^Ëj}þÖ<íéÛr£]<íÂ†ŠÖ]<æð^Ëj}þÖ<íéÛr£]<íÂ†ŠÖ]<æ( )vol Aν <<<<VVVV 

( )
( )

A

vol A
V

ν
ν = 

9- ð^Ëj}ý]<íÂ†‰<æ<ØÓ�jÖ]<íÂ†‰<°e<íÎøÃÖ]ð^Ëj}ý]<íÂ†‰<æ<ØÓ�jÖ]<íÂ†‰<°e<íÎøÃÖ]ð^Ëj}ý]<íÂ†‰<æ<ØÓ�jÖ]<íÂ†‰<°e<íÎøÃÖ]ð^Ëj}ý]<íÂ†‰<æ<ØÓ�jÖ]<íÂ†‰<°e<íÎøÃÖ] : 

( ) ( )A D
ν ν

α λ
= 

10- <ØÂ^ËjÖ]<Ì’Þ<àÚ‡<ØÂ^ËjÖ]<Ì’Þ<àÚ‡<ØÂ^ËjÖ]<Ì’Þ<àÚ‡<ØÂ^ËjÖ]<Ì’Þ<àÚ‡1 2t<<<<VVVV 

< <

max
1 2( )

2

x
x t =

   

A<<‚¦<ØÂ^ËjÚ( 0)Afn = V 

 

 

<0
1 2( )

2
A

A

n
n t = <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<[ ]

[ ]0
1 2( )

2

A
A t =< <

 

< <
< <
< <
< <

1 2( )
2
f

D

n
n t =<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<B<<‚¦<ØÂ^ËjÚ<‹éÖ<V V< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<0
1 2( )

2
B B f

B

n n
n t

+
=< <

 

 

[ ] [ ] [ ]0
1 2( )

2
f

B B
B t

+
=<<<<<<< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<[ ] [ ]
1 2( )

2
f

D
D t = 

 

x(mol) 

t(s) 

xf /2 

xf 

t1/2 

nA(mol) 

t(s) 

n0A 

n0A /2 

t1/2 
t(s) 

 A  (mol/L) 

 A 0 

 A  0  /2 

t1/2 

nD(mol) 

t(s) 

n f 

nf  /2 

t1/2 

nB(mol) 

t(s) 
nB f 

n0B 

t1/2 

nB(t1/2) 

t(s) 

 

 (mol/L) 

t1/2 

(mol/L) 

t(s) 

 

t1/2 
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<h<I<<<<íéÞç×Ö]<ì†è^Ã¹]<Ðè†�<àÂ<êñ^éÛéÒ<ÙçvjÖ<íéßÚˆÖ]<íÃe^j¹]<<<<VVVV< << << << <

           <½^�Þ<<àè†³<V15<<ívË‘51< <
1- V<ì†è^Ã¹]<ð^ßm_<p�^£]<êñ^éÛéÓÖ]<ØÂ^ËjÖ]<íÖ�^ÃÚ 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
2

2 2
2 3 4 6

2 2
2 2 3 4 6

2 2

2 2

2 2

I é I

S O S O é

I S O I S O

−

− −

− − −

+ →

→ +
+ = +

 

2- <Ür£]<æ<�çéÖ]<ì�^Ú<íéÛÒ<°e<íÎøÃÖ]V ′<V 

ØÂ^ËjÖ]<Ý‚Ïi<Ùæ‚q<<V< <
2 2

2 2 3 4 62 2I S O I S O− − −+ = +< <ØÂ^ËjÖ]<íÖ�^ÃÚ< <
Ùç¹^e<ì�^¹]<íéÛÒ< <Ý‚ÏjÖ]( )x mol í×Û¢]<íÖ^u< <

0< <0< <02n< <01n< <0< <íéñ]‚jeý]<íÖ^£]< <

x< <2x< <02 2n x−< <01n x−< <x< <íéÖ^ÏjÞý]<íÖ^£]< <

ex< <2 ex< <02 2 en x−< <01 en x−< <max ex x=< <íéñ^ãßÖ]<íÖ^£]< <

<<<V<ádÊ<ë�ÚçéÒçj‰<sèˆ¹]<á_<^²
( )
( )

01

02

0............ 1

2 0......... 2

e

e

n x

n x

+ =

+ =
<< <

<àÚ( ) ( )2 V<‚¨02>>>و1
01 2

n
n =<<V<äßÚ<æ2( )

2

C V
n I

′ ′
=< 

3- <îßvß¹]<Ü‰…2( ) ( )n I f t=<V 

 

 

 

 

 

 

 

 

 

 

 

 

 

4- <_I<<<�çéÖ]<êñ^ßm<ØÓ�jÖ<íŞ‰çj¹]<íéÛr£]<íÂ†ŠÖ]<h^Šu°e<<°j¿v×Ö]1 10mint =<<æ2 20mint =<V 

<V<^ßè‚Ö
2

5
42

( ) 3

1 1 ( ) 1 (5,2 3,4).10
1,8.10 ( / .min)

10.10 20 10volm I m

n I
mol L

V V t
ν ν

−
−

−

∆ −
= = = =

∆ −< <
           <<hI<<<í¿v×Ö]<»<�çéÖ]<êñ^ßm<ØÓ�jÖ<íé¿v×Ö]<íéÛr£]<íÂ†ŠÖ]<h^Šu15mint =<<<<<<<<V

2

5
42

( ) 3
15min

1 1 ( ) 1 (7 1,8).10
(15) (15) 1,8.10 ( / .min)

10.10 29 0vol I

t

dn I
mol L

V V dt
ν ν

−
−

−
=

− = = = =  − < <

5 

 

 

 1 
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5- <_I<<°e<ØÂ^ËjÖ]<íÖ�^ÃÚ1S<<æ2S<V 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

2

2 2
2 8 4

2 2
2 8 2 4

2 2

2 2

2 2

I I é

S O é SO

I S O I SO

−

− −

− − −

→ +

+ →
+ = +

< <

<<<<<<<<<<<<hI<<ð^Ëj}c<íÂ†‰<°e<íÎøÃÖ]2
2 8S O −<<ØÂ^ËjÖ]<íÂ†‰<ædx

dt
ν =<V 

<Ý‚Ïi<Ùæ‚q<ØÂ^ËjÖ]V< <
<< <

2 2
2 2 3 4 62 2I S O I S O− − −+ = +< <ØÂ^ËjÖ]<íÖ�^ÃÚ< <

Ùç¹^e<ì�^¹]<íéÛÒ< <Ý‚ÏjÖ]
( )x mol 

í×Û¢]<íÖ^u< <

0< <0< <2
0 2 8( )n S O −< <0 2( )n I< <0< <íéñ]‚jeý]<íÖ^£]< <

x< <2x< <2
0 2 8( ) 2n S O x− −< <0 2( )n I x−< <x< <íéÖ^ÏjÞý]<íÖ^£]< <

maxx< <max2x< <2
0 2 8 max( ) 2n S O x− −< <0 2 max( )n I x−< <maxx< <íéñ^ãßÖ]<íÖ^£]< <

< <

<V<^ßè‚Ö<ØÂ^ËjÖ]<Ý‚Ïi<Ùæ‚q<àÚ( )2 2
2 8 0 2 8( ) ( ) ......... 1n S O n S O x− −= −<< <

<íÖ�^Ã¹]<»†�<Ðj�Þ( )1<<<V<‚rßÊ<àÚˆ×Ö<ífŠßÖ^e< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<

2 2
2 8 0 2 8

2 2
2 8 0 2 8

2
2 8

( ) ( ( ) )

( ) ( )

( )

dn S O d n S O x

dt dt

dn S O dn S O dx

dt dt dt

dx dn S O

dt dt

− −

− −

−

−
=

= −

= −

<<< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<V<äé×Â<æ2
2 8( )S O

ν ν −=<< <

<t–<<‚ßÂ<ØÂ^Ëj×Ö<íéÛr£]<íÂ†ŠÖ]<h^Šu15mint =<<<V< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<
15min

1 1
(15) (15)vol

t

dx

V V dt
ν ν

=

 = =  
 

<< <

<{Ö<ì�^¹]<íéÛÒ<^ßè‚Ö( )2n I<<Ý‚ÏjÖ]<^ãŠËÞ<êâx<<äé×Â<æ2( )n I x=<<êÞ^éfÖ]<îßvß¹]<äßÚ<æ2( ) ( )n I f t=<

<äŠËÞ<çâ( )x f t=<<í¿v×Ö]<»<Œ^Û¹]<Ü‰†Þ<äé×Â<æ15mint =<<îßvß¹]<»2( ) ( )n I f t=<<íÂ†ŠÖ]<gŠ©<æ

<<<<<<<<íé¿v×Ö]
5

5(7 1,8).10 .10
(15) 1,8.10 ( / min)

29 0

x
mol

t
ν

−
−∆ −

= =
∆ −

<< 

<<<<<<<<<<<<<<<<<<<<<<V<äßÚ<æ5 4
3

1
(15) 1,8.10 1,8.10 ( / .min)

100.10vol mol Lν − −
−= =<< <

< <
< <
< <
< <
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III. íéÒ†£]<ØÚ]çÃÖ]< 

1- êÒ†£]<ØÚ^ÃÖ]<ÝçãËÚ<J<ØÂ^ËjÖ]<íÂ†‰<�éÇi<î×Â<…�^Î<…]‚ÏÚ<ØÒ<çâ<V 

2- íéÒ†£]<ØÚ]çÃÖ]<�m`i<V 

<_I  ì…]†£]<íq…�<�m`i<<V 

<Ùæù]<Œ`ÓÖ]<ì…]†u<íq…�<oéu<íË×j§<ì…]†u<íq…�<l]ƒ<íéñ^Ú<l^Ú^·<pøm<ŒæöÒ<pøm<»<†–©25 c°<<»<æ
<êÞ^nÖ]<Œ`ÓÖ]41 c°<<oÖ^nÖ]<Œ`ÓÖ]<»<æ66 c°<î×Â<^ãßÚ<ØÒ<ëçj¬<…^fj}c<gée^Þ_<pøm<»<†–©<æ<H5ml<<àÚ

<Í^Ë�Ö]<ÔéÖ^ŠÒù]<˜·<Ùç×¦( )2 2( ) 2COOH H O<<^ãßÚ<ØÒ<ëçj¬<ï†}_<…^fj}c<gée^Þ_<pøm<ğ̂–è_<†–©<æ
<î×Â5mlæ<H<êrŠËße<áç×e<ˆéÛjè<ë„Ö]<æ<Ýçé‰^içfÖ]<l^ßÇßÚ†e<àÚ<˜Û¦<Ùç×¦<àÚÞ<…^fj}c<hçfÞ_<Œ`Ò<ØÒ<»<Ä–

ØÒ<àÚ<<æ<Ùç×¦†¿jßÞ<<…^fj}c<gée^Þ_<»<˜Û�]<ÔéÖ^ŠÒù]<˜·<ïçj¦<g’Þ<æ<H<ë…]†u<á‡]çi<p‚¬<îju
<í¿£<»<˜Û�]<Ýçé‰^içfÖ]<l^ßÇßÚ†et<J< <

 

 

< <
< <
< <
< <
< <
< <
< <
< <
< <

 

< <

<<<<<<<<<<<<<<<í¿uø¹]<<l^ßÃßÚ�Ö]<�…]ç�Ö<ˆéÛ¹]<êrŠËßfÖ]<áç×Ö]<ð^Ëj}c<ÀuøÞ<V( )4MnO −<<ì…]†£]<íq…�<æƒ<êñ^¹]<Ý^Û£]<»

J<ØÎù]<ì…]†£]<íq…�<æƒ<êñ^¹]<Ý^Û£]<àÚ<�Òù]< <
íréjÞ<^ËjÖ]<íÂ†‰<kÞ^Ò<^Û×Ò<�Ò_<ê×Â^ËjÖ]<¼‰çÖ]<ì…]†u<íq…�<kÞ^Ò<^Û×Ò<V<J<�Ò_<ØÂ< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <

<äi…]†u<íq…�<êñ^Ú<Ý^· <<äi…]†u<íq…�<êñ^Ú<Ý^· <<äi…]†u<íq…�<êñ^Ú<Ý^· <

àÚ <<<
<˜·<Ùç×¦
ÔéÖ^ŠÒù]<

àÚ <<<
<Ùç×¦
<l^ßÇßÚ†e
Ýçé‰^içfÖ]<
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<<<<<<<<<h<I<<<<løÂ^ËjÛ×Ö<êñ]‚jeý]<ˆéÒ�Ö]<�m`i<V 

<çj¬<ŒæöÒ<íÃe…_<†–©<ÔÖ„Ò<æ<íèæ^ŠjÚ<ˆéÒ]†i<æ<<Ýçru<l]ƒ<…^fj}c<gée^Þ_<íÃe…_<»<ð^¹]<…ç×Ò<˜·<†–©
l^jè�Òçém<î×Â<^ãßÚ<ØÒ<J<Œ`Ò<ØÒ<k�<ð]�ç‰<íÃÏe<Ä–Þ<æ<ˆéÒ�Ö]<»<Ì×j¡<æ<Ýçr£]<íèæ^ŠjÚ<Ýçè�ç’Ö]< <

          < <
< <
< <
< <
< <
< <
< <
< <
< <
<<<<<<<<<<<<<í¿uø¹]<ð^Ëj}c<ÀuøÞ<V<<E<ÜÎ…<Œ`ÓÖ]<ØË‰_<ì�çqç¹]<ð]�çŠÖ]<íÃÏfÖ]4<êÎ^e<àÚ<Å†‰_<�Òù]<ˆéÒ�Ö]<æƒ<D

<E<ÜÎ…<Œ`ÓÖ]<»<ì�çqç¹]<íÃÏfÖ]<êâ<êËj¡<íÃÏe<†}_<æ<ŒæöÓÖ]1J<ØÎù]<ˆéÒ�Ö]<æƒ<D< <
<íréjÞ<£]<íq…�<‹ËÞ<‚ßÂ<V<^Û×Ò<�Ò_<løÂ^ËjÛ×Ö<êñ]‚jeý]<ˆéÒ�Ö]<á^Ò<^Û×Ò<ê×Â^ËjÖ]<¼‰ç×Ö<ì…]†

J<D<ë�†�<g‰^ßi<E<�Ò_<ØÂ^ËjÖ]<íÂ†‰<kÞ^Ò< <
 

< <
< <
< <
< <
< <
< <
< <
< <

 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<t<I<<<¼‰çÖ]<�m`i<V 

¼é‰çÖ]<V<<íÖ^£]<»<�Çè<÷æ<ØÂ^ËjÖ]<íÖ�^ÃÚ<»<†ã¿è<á_<áæ�<êñ^éÛéÓÖ]<ØÂ^ËjÖ]<Å†Šè<êñ^éÛéÒ<ÅçÞ<çâ
J<¼é‰çÖ]<àÚ<Å]çÞ_<pøm<ˆé´<æ<íéñ^éÛéÓÖ]<í×Ûr×Ö<íéñ^ãßÖ]< <

1- ‹Þ^rjÚ<¼‰æ<J<løÂ^ËjÛ×Ö<íéñ^èˆéËÖ]<íÖ^£]<‹ËÞ<àÚ<¼‰çÖ]<á^Ò<]ƒcV 

2- ‹Þ^rjÚ<�Æ<¼‰æ<<íéñ^èˆéËÖ]<íÖ^£]<kÞ^Ò<]ƒcVJ<løÂ^ËjÛ×Ö<íéñ^èˆéËÖ]<íÖ^£]<àÂ<Ì×j¡<¼é‰ç×Ö 

3- êµˆÞ_<¼‰æ<ğønÚ<Hğ̂ µˆÞc<¼é‰çÖ]<á^Ò<]ƒcV ée<løÂ^Ëi<p‚�<íé£]<ì�^¹]<»ç<^ãéÊ<Ø}‚ji<íéñ^éÛéÒ
J<¼é‰çÒ<l^µˆÞý] 

3- ë†ã�]<�ŠËjÖ]<<V 

J<løÂ^Ëj¹]<l^òèˆq<°e<Ý�^’jÖ]<àÂ<si^Þ<êñ^éÛéÓÖ]<ÙçvjÖ]< <
I èÝ]‚Ş‘ý]<áçÓ<J<ì…]†£]<íq…�<Å^Ëi…c<ÄÚ<løÂ^ËjÛ×Ö<íéñ^éÛéÓÖ]<�]†Êù]<°e<ğ÷^ÃÊ 

I J<Å†‰_<ØÂ^ËjÖ]<á^Ò<æ<íÖ^ÃËÖ]<l^Ú�^’jÖ]<l�]�‡c<^Û×Ò<løÂ^ËjÛ×Ö<êñ]‚jeý]<êÖç¹]<ˆéÒ�Ö]<�]�‡c<^Û×Ò 

  

°je^m<ˆéÒ†i<æ<Üru<æƒ<ð^¹]<…ç×Ò<˜·<Ùç×¦<
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4- íéÒ†£]<ØÚ]çÃÖ]<íéÛâ_<V 

<_I  ¼é‰çÖ]<íéÛâ_<<V 

1- <ð^éÛéÒ<çéfÖ]<»×ñ^Â<»<^ãËß’ÞVí<ßÂ<l^ßéiæ�Ö]‚<ý]<»<æ<H<JJJ<h^Ã×Ö]<»<l^µˆÞý]<‚qçi<á^ŠÞ
J<l^eæ†�¹]<˜Ãe<æ<ˆf¤]<�–�<»<ØÛÃjŠi<íéñ]„ÇÖ]<l^Â^ß’Ö] 

2- <íÂ^ß’Ö]<»J<íéñ^éÛéÒæ�éfÖ]<æ<íéÖæ�éfÖ]<íÂ^ß’Ö]<»<¼é‰çÖ]<ØÛÃjŠèV 

<hI  løÂ^ËjÛ×Ö<êÖç¹]<ˆéÒ�Ö]<�m`i<<ê×Â^ËjÖ]<¼‰çÖ]<‚è‚Ûje<ÌéßÂ<ØÂ^Ëi<ÌéÎçi<àÓµV
<íéÛÒ<íÊ^•deJ<‹ÓÃÖ]<æ_<»<ð^¹]<àÚ<ì�fÒ 

<tI  ì…]†£]<íq…�<�m`i<<V<<äjÖ^u<»<á^ŠÞý]<áçÓè<ì…]†u<íq…�<‚ßÂ<íéÃéfŞÖ]37 c°<<äéÂæ<‚ÏËè<æ
<‚ßÂ33 c°<<‚ßÂ<äÆ^Ú�<ÌÎçjè<æ42 c°<J<íéqçÖçéfÖ]<løÂ^ËjÖ]<ì�^è‡<æ_<“Î^ßjÖ<ğ]†¿Þ< <
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<ÜÎ…<êÖˆßÚ<gq]æI01I(BAC2008 AS ) 

�érŠÒæù]<ð^¹]<ÔÓËi<Œ…‚Þ2 2( )H Oíje^m<ì…]†u<íq…�<‚ßÂ<H12 Cθ = °<J<g‰^ßÚ<¼é‰æ<�çqæ<»<æ<H
V<äjÖ�^ÃÚ<êñ^éÛéÒ<ØÂ^Ëje<Ø‘^£]<êñ^éÛéÓÖ]<ÙçvjÖ]<t„ÛßÞ2 2( ) 2 ( ) 2( )2 2aq l aqH O H O O= + 

Híe†rjÖ]<½æ†�Ö]<»<‡^Ç×Ö<êÖç¹]<Ür£]<á_<æ<H<ÙçvjÖ]<ì‚Ú<Ùø}<ğ̂ je^m<îÏfè<Ùç×�]<Üru<á_<�jÃÞ
24 /MV L mol= D . 

í¿v×Ö]<»<„}`Þ0t =<ğ̂ Ûru500
S

V ml=<�érŠÒæù]<ð^¹]<àÚ<êñ]‚jeý]<êÖç¹]<åˆéÒ†i

[ ] 2
2 2 0

8,0.10 /H O mol L−=<J< <

äÛru<‹éÏÞ<æ<ØÓ�j¹]<°rŠÒæù]<êñ^ßm<ÄÛ¨
2

( )OV<<sñ^jßÖ]<ØrŠÞ<æ<H<Ðñ^Î�<Äe…_<ØÒ<ke^m<¼Ç•<k�

<V<êÖ^jÖ]<Ùæ‚¢]<» 

< <

40  36  32  28  24  20  16  12  8  4  0  (min)t< <
300  294  288  276  253  234  204  162  114  60  0  

2
( )OV ml< <

                      [ ]2 2 0
( / )H O mol L< <

< <

1- J<Ø‘^£]<êñ^éÛéÓÖ]<ØÂ^ËjÖ]<Ý‚ÏjÖ<ğ÷æ‚q<ó�Þ_ 

2- êÖç¹]<ˆéÒ�Ö]<ì…^fÂ<gjÒ_[ ]2 2H O<í¿v×Ö]<»<�érŠÒæù]<ð^Û×Öt<V<íÖ÷‚e[ ]
2 2 2 0
, , ,O M SV V V H O 

3- <_I<<J<Ðe^ŠÖ]<Ùæ‚¢]<ØÛÒ_ 

hI<<êÞ^éfÖ]<îßvß¹]<Ü‰…_[ ]2 2 ( )H O f t=<J<g‰^ßÚ<Ü‰…<Ü×‰<Ù^ÛÃj‰de< <
tI<<J<êñ^éÛéÓÖ]<ØÂ^Ëj×Ö<íéÛr£]<íÂ†ŠÖ]<ì…^fÂ<¼Â_< <
�I<<°j¿v×Ö]<»<êñ^éÛéÓÖ]<ØÂ^ËjÖ]<íÂ†‰<gŠu_2 16mint =<æ2 24mint =<<<ÌéÒ<sjßj‰c<æ<H  

J<àÚˆÖ]<ÄÚ<ØÂ^ËjÖ]<íÂ†‰<�Çji 

<å–<<ØÂ^ËjÖ]<Ì’Þ<àÚ‡<°Â1 2t<J<ğ̂ éÞ^ée< <

4- íq…‚Ö]<»<íÏe^ŠÖ]<íe†rjÖ]<kè†q_<]ƒc35 Cθ ′ = °<<îßvßÚ<ØÓ�<ğ̂ éËéÒ<Ü‰…_<H[ ]2 2H O<íÖ÷‚e<àÚˆÖ]
J<†è�jÖ]<ÄÚ<Ðe^ŠÖ]<á^éfÖ]<î×Â 
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Ö]<xév’i<gq]ç¹]<ÜÎ…<êÖˆßI01<I(BAC2008 AS ) 

1- <V<Ø‘^£]<êñ^éÛéÓÖ]<ØÂ^ËjÖ]<Ý‚Ïi<Ùæ‚q 

2 2( ) 2 ( ) 2( )2 2aq l aqH O H O O= +< <ØÂ^ËjÖ]<íÖ�^ÃÚ< <
Ùç¹^e<ì�^¹]<íéÛÒ< <Ý‚ÏjÖ]( )x mol í×Û¢]<íÖ^u< <

0< <

ì†
Êç
e 0n< <0< <íéñ]‚jeý]<íÖ^£]< <

x< <0 2n x−< <x< <íéÖ^ÏjÞý]<íÖ^£]< <

maxx< <0 max2n x−< <maxx< <íéñ^ãßÖ]<íÖ^£]< <
 

2- V<íéÖ^ÏjÞý]<íÖ^£]<»<ØÂ^ËjÖ]<Ý‚Ïi<Ùæ‚q<àÚ<^ßè‚Ö 

2 2 0( ) 2n H O n x= −<<<<<<<<æ2

2( ) O

M

V
n O x

V
= =< <

<V<äßÚ<æ[ ] [ ] 2

2 2 2 2 0
. . 2 O

S S

M

V
H O V H O V

V
= −<<V<äßÚ<æ[ ] [ ] 2

2 2 2 2 0
2

.
O

M S

V
H O H O

V V
= −< <

3- _I<V<Ùæ‚¢]<Ù^ÛÒc 

 

40  36  32  28  24  20  16  12  8  4  0  (min)t< <
300  294  288  276  253  234  204  162  114  60  0  

2
( )OV ml< <

3,1 3,1  3,2  3,4  3,7  4,1  4,6  5,3  6,1  7,0  8,0  [ ] 2
2 2 0

(10 / )H O mol L
−< <

 

<<hI< êÞ^éfÖ]<îßvß¹]<Ü‰…_[ ]2 2 ( )H O f t= 

 

 

< <

1 

2 
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<<t<I<  êñ^éÛéÓÖ]<ØÂ^Ëj×Ö<íéÛr£]<íÂ†ŠÖ]<ì…^fÂ<V< <

<V<^ßè‚Ö1
vol

dx

V dt
ν =<<Voéu<HV<J<ê×Â^ËjÖ]<¼‰çÖ]<Üru< <

<<<�<I<<Šu^<°j¿v×Ö]<»<êñ^éÛéÓÖ]<ØÂ^ËjÖ]<íÂ†‰<h2 16mint =<æ2 24mint =<<V< <
<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<V<^ßè‚Ö2 2 0( ) 2n H O n x= −< <

<V<‚¨<íÖ�^Ã¹]<»†�<Ñ^Ïj�de< <

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<2 2 0( )
2

dn H O dn dx

dt dt dt
= − 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<V<äßÚ<æ 
2 2( )

2
dn H O dx

dt dt
= −< <

<<<<<<<<<                                             <<<<<<<
[ ]2 2 2S

d H O V dx

dt dt
= − 

<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<   
[ ]2 2

2
S

d H Odx V

dt dt
= −< <

<V<äßÚ<æ <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<[ ]2 2

2
S

d H OV

dt
ν = −< <

<‚ßÂ16mint =<<<<<<<<<<<<<<<<<V[ ] 42 2

16min

(16min) 3,6.10 / min
2
S

t

d H OV
mol

dt
ν −

=

 
= − = 

 
 

<<‚ßÂ24mint =<V<<<<<<<<<<[ ] 42 2

24 min

(24min) 2,66.10 / min
2
S

t

d H OV
mol

dt
ν −

=

 
= − = 

 
 

J<løÂ^Ëj¹]<ˆéÒ†i<á^’ÏßÖ<àÚˆÖ]<…æ†Ú<“Î^ßji<ØÂ^ËjÖ]<íÂ†‰<á_<ÀuøÞ< <
<<<åI<<i<ØÂ^ËjÖ]<Ì’Þ<àÚ‡<°Ã1 2t<ğ̂ éÞ^éeV< <

<êÛ¿Âù]<äÚ‚Ïi<Ì’Þ<ØÂ^ËjÖ]<Éç×fÖ<Ý‡øÖ]<àÚˆÖ]<çâ<†ÛÃÖ]<Ì’Þ<àÚ‡max
1 2( )

2

x
x t =<<Ý^i<ÙçvjÖ]<á_<^²<æ

<{Ö<Øe^Ï¹]<àÚˆÖ]<á^éfÖ]<î×Â<_†ÏÞ[ ] [ ]2 2 0
2 2 1 2( ) 0,04 /

2

H O
H O t mol L=<<V<äßÚ<æ1 2 21mint = 

4- <îßvß¹]<ØÓ�[ ]2 2 ( )H O f t=<íq…‚Ö]<»35 Cθ ′ = °< 

<ë_<Œ^éÏÖ]<í¿£<‹ËÞ<»<ì…]†£]<íq…�<Å^Ëi…^e<�]�ˆi<ØÂ^ËjÖ]<íÂ†‰θ θ′〉 <äßÚ<æν ν′〉<V<äé×Â<æ 

I <îßvß¹]1<<Ønµ[ ]2 2 ( )H O f t=<<ì…]†£]<íq…�<»12 C°<J 

I <îßvß¹]2<<Ønµ[ ]2 2 ( )H O f t=<<ì…]†£]<íq…�<»35 C°<J 

 

 

< <


